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1. Ifthe probab1hty of s the probability of obtaining the first success within the first
three trials is :
A) 0.428 » C)0.1406 D) 0.25
2. IfP(A/B) @f.4 aadR(B) = 0.3 find P(AnB)
A) 0171 B C) 0571 D)0.12
3. The rels pbetween two capitals A and B
Log A +10g B

Log B — L3g A = 0.08825. the value of A and B are
A) 11300 and 9220 B) 50000 and 61280 C) 25000 and 20398 D) 17158 and 14000

4. Che just won a premier game and want to put some money away S0 that he will have 75000 frs
for his child’s education 18years from onw. How much does he need to invest today if he can

A) 20404 “BY18980  C) 17271 ,,__11115763

5. The crop yield in-kg(y)- andﬁxpﬂndmlre:on_femhzcr (x) in thousapds:arf:lmkcd by the linear———
regression equation Y =3 +2.5x the yield in kig when 5000 is spend is fertilizer is;
A) 123500—B)3000 —€) 12503 D) 27 500 R Ty * -

6. Giventhat TC=12+ 7x and TR = 21x — 2x profit is ' e
A) -2x2 “x_12 B) 2>+ Sx + 12 €)2x> —5x+ 12 Dy-2x®+5x+ 12
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7. A project with an initial outlay of 20,000frs has a single inflow of 25,000 frs after 4 years. The
NPV at 19% is

A) 50001rs B) 17075fts C) 34151rs D) -2925frs

Given that the Demand function for a product is given by P = 2-x where x is the quantity
demanded. The Marginal revenue function i is;

Q

A) 2 B) 2-2x C) 2-x D) 2x-x2
9. The MC function of a production is x + 2. If FC is 700, then TC function is
A) X2-2x+700 B) x +702 C) 2-x D)2x-x?

19. Given the probability distribution table below;

X 1 T3 3 i E
| Plx=x) 2/9 [1/9 0 1/9 [ 2/9 3/9
The expectation is: .

A)3.5 B)20 C)4 D) 36

11, A card is selected from a pack of 52 playing cards. The probability t
A)1/64B) 4413 C)4/52D) 2/13

12. The sum of 3 numbers in AP is 15, if the first is ¥ of the third
A)3,5,7 B) 8,5,2 C) 1,59 D) 2,58

13. Mr. Kum invested the sum of 120 850fts at BICEC bank %o
which he withdrew the total sum of 120,850frs the integest ra
A)3.5% B) 4.25%..7 -C)3% D) 42 %

14. Ngia Ndoh shared his property to his 3 SO
property while Mmgo recelved %4 of Tanul

A)562,500fts B) 3 500 000fis
'5." Awah acquired a computer fo aw 250,000 frs immediately and promise to setile the
balance by 4 constant ordinag ial annuities of 161,611 24frs. what is the cost of the
computer given that the inferes -36% per annum?
A)791000frs B)810000§ C)56400frs D) 1308000fts
! { ¢ are 400,000frs, 600,000frs and 500,0001rs respectively due on
re replaced by a single bill. The average due date of the single bill

C)30days D)50days

B)O 667 C)2.5 D)2

18. The sum of 400,000frs is invested at the rate of 5% compound interest has yielded a total
interest o 162,840frs. The duration of the investment is:
A)Syears B) 8years C) 7years D) 6years

g r—,sa—Ewm the amortization- eﬁm—ordmary%onomnﬂ—th&eﬂﬁamdmg debt at the end of the last +— -

= ~_year is 524,000frs. What _srjthc value of the < corTSElﬁt——ﬁify at the interest rate ﬁfifl’Wper AR
© T annum? ; _
T A)S40 000fs B) 581 295f;s—£j5m%ﬁ:s:DT59_3659_g4ﬁ-3 s o
20. An enterprise realized sales sales of 25, 26, 30, 28, 25 and 40 respectively in January, February,

march, April, May and June using the moving average period 3 and sing the extreme point
—— - nf*ihod the equation of the-straight line will be; -

|
e AR

Tx+223 B)3x+23 () 0.67x + 25 D) 1.33x = 24 33 .
36 '




www.tousl esconcours.info

. A business man purchased goods with 450,000frs and incurred transport charges of 15000 frs
and selling expenses of 20% of the cost price. What 1s the cost price?

A)465 000frs B) 581 250frs C) 558 000frs D) 543 000frs

- The cost of a machine 1s 8/15 of the selling price. If the cost price is 20,000frs, the selling price
is

A)Y27 500fts B) 581 250frs C) 10 666.67frs D) 32 555f1s

- A man decided the share the sum of 3 000 000frs to his 3 children aged 12years, 13years and
l6years such that when they all reach the age of 18, their feature values will be equal. What is
the value of the common feature value if the shares were invested at a compound interest rate of
7.5% '

A) 1357 556.5f B) 750 000f C) 843 527.52f D) 756 548.88f

. Penn took 2 bills of the same nominal value for discounting at the rate % for 36days and 48
days rcspectiv,ely. Given that he went back with 1,429,920f, what is t '
A)650 000f , B)720000f C) 760 000f

. A truck saves 12,000frs every month at 2% per month compoun
motor bike after 2. years. After 2 years, the total amount co
uncle assisted him to buy the bike for 390,000frs. How mué}
A)24 937.65f B) 24 240f C)32154.54f D) 2

wto enable him buy a
as not sufficient but his
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